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2x+4 = 22(2x—1)
x+4=2(2x-1)
3x=6

SoX = 2
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2x-3y 3
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a b c
- (a=b)(a-c) + (b-c)(b-a) + (c—a)(c-b)
@o @ 1 ® 2 @ 3 ® 4
S8
P= 2 + b + ‘

—-a -b —c
@-b)c—a)  (b-0a-b)  (c—a)b-0)
_ —a(b—-c)—b(c—a)—c(a-b)

(a=b)(b-c)(c—a)

—ab + ac — bc + ab — ac + bc —0

(a=Db)(b-c)(c—a)
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© ~5x+ 5y @ —5x+9y @—5x+ 11y
@ —5x+ 3y ® -5x+y

4a-3b = 4(x +2y) - 3(3x - )
=4x+ 8y —9x + 3y
= -5x+ 11y
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12, 2x-y+3=3x-2y+5 Y& ol8stoix* +xy-3 x o TRt Ao m
LHER Y

® 3x-3 @ x*2+x-3 ® 22 +x-3

@)2x2 +2x-3 ® 2x2+3x-3

2x-y+3=3x-2y+ 55y = H5IH y = x + 20|},
Folx Ao o st
%+ x(x+2) -3 =2x% +2x - 30|},
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(22)4x+2 — (23)2x+4
28x+4 — 26x+12
8x+4=06x+12

L x=4




14. 4 (2x-5y) : (-3x—y) = 3: 4 = x of T5to] ZH?

@x:y @ x=2 ® x=3y
@ x =4y ® x=5y

~&B

3(~3x—y) = 4(2x - 5)
—9x — 3y = 8x — 20y
—17x=-17y

LXxX=Yy
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abcde — ab _ 24301

O-abcde = —54560 = 99900

@9 @16 ® 24 @ 28 ® 31

B

24301
0.abcde = 30

99900
ut2kA] 24301 = abede — 24
abcde = 24301 + 24
.. abcde = 24325
La+b+c+d+e=16
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